

#### **Grade Boundaries**

Grade	A*	Α	В	С	D	E	U	
Mark /	119	93	76	60	44	28	0	
144								) x12
Scaled/	149	116	95	75	55	35	0	
180								•

note: the scaled score is added to the scores in the other modules to find an overall grade, not the raw mark

OCR is an exempt Charity



1 Using standard summation of series formulae, determine the sum of the first *n* terms of the series  $(1 \times 2 \times 4) + (2 \times 3 \times 5) + (3 \times 4 \times 6) + \dots$ 

where n is a positive integer. Give your answer in fully factorised form.

we need to write this series in a general First form.  $\frac{n}{\sum_{r=1}^{n} (r(r+i)(r+3))}$   $= \sum_{r=1}^{n} (r^{3} + 4r^{2} + 3r) \nu$   $Using \leq ar^{3}$  $- \underset{r=1}{\overset{n}{\leftarrow}} \underbrace{r}^{2} + 3 \underset{r=1}{\overset{n}{\leftarrow}} r^{2} + 3 \underset{r=1}{\overset{n}{\leftarrow}} r^{2} + 6 \underset{r=1}{\overset{n}{\leftarrow}} r^{3} + 6 \underset{r=1}{\overset{n}{\leftarrow}} r^{2} + 3 \underset{r=1}{\overset{n}$ Now in the formula book,  $\sum_{r=1}^{n} r^3 = \frac{1}{4} n^2 (n+1)^2$  and  $\sum_{r=1}^{n} r^2 = \frac{1}{6} n (n+1) (2n+1)$ . Also recall  $\sum_{r=2}^{n} r = \frac{1}{2}n(n+1)$  $= \frac{1}{4}n^{2}(n+1)^{2} + 4\left(\frac{1}{6}n(n+1)(2n+1)\right) + 3\left(\frac{1}{2}n(n+1)\right)$ =  $\frac{1}{12}n(n+1)\left(3n(n+1) + 9(2n+1) + 18\right)$ =  $\frac{1}{12}n(n+1)\left(3n^{2} + 3n + 16n + 8 + 18\right)$  $= \frac{1}{12}n(n+1)(3n^{2} + 19n + 26) \leftarrow always \ check \ if$ =  $\frac{1}{12}n(n+1)(n+2)(3n + 13) \qquad q \ vadiratics \ will$ quadratics will factorise. You will lose marks if your answer is not in it's simplest form.

© OCR 2020

А

### www.mymathscloud.com

www.mymathscloud.com

[6]

$$\begin{aligned} 1 & (a) & (b) & (c) & (c)$$

G

E

www.mymathscloud.com 4 In this question you must show detailed reasoning. 3 Find  $\int_{-\infty}^{\frac{1}{3}} \frac{1}{\sqrt{4-9x^2}} dx$ , expressing your answer in terms of  $\pi$ . [4] We can rewrite this integral into a standard in the formula book. form  $\int \frac{1}{\sqrt{4} - 9x^2} dx = \frac{1}{\sqrt{9}} \int \frac{1}{\sqrt{4} - x^2} dx$ From the formula book we know  $\sqrt{\frac{1}{\sqrt{a^2 - x^2}}} dx = \arcsin\left(\frac{2C}{a}\right)$ + C Hence  $= \frac{1}{3} \int_{0}^{\frac{1}{3}} \sqrt{\left[\frac{2}{3}\right]^2 - x^2} dx$  $= \frac{1}{3} \left[ \operatorname{arcsin} \left( \frac{2C}{2\sqrt{3}} \right) \right]_{0}^{\frac{1}{3}} \sqrt{\frac{1}{3}} \sqrt{\frac{1}{3}}$  $=\frac{1}{3}\left[\operatorname{OrCsin}\left(\frac{32}{2}\right)\right]^{\frac{1}{3}}$ subbing in limits  $=\frac{1}{3}\left(\operatorname{arcsin}\left(\frac{3}{2}\times\frac{1}{3}\right)-\operatorname{arcsin}o\right)$  $=\frac{1}{3}\left(\operatorname{arcsin}\frac{1}{2}-O\right)$  $= \frac{1}{3} \left( \frac{\pi}{6} \right) = \frac{\pi}{18}$ 

G

5  
4 The roots of the equation 
$$2x^3 - 5x + 7 = 0$$
 are  $\alpha, \beta$  and  $\gamma$ .  
(a) Find  $\frac{1}{\alpha} + \frac{1}{\beta} + \frac{1}{\gamma}$   
 $\frac{1}{\alpha} + \frac{1}{\beta} + \frac{1}{\gamma}$   
 $\frac{1}{\alpha} + \frac{1}{\beta} + \frac{1}{\gamma} = \frac{\beta\gamma}{\alpha\beta\gamma} + \frac{\alpha\beta\gamma}{\alpha\beta\gamma} + \frac{\alpha\beta}{\alpha\beta\gamma}$   
 $\frac{\beta\gamma}{\alpha\beta\gamma} + \frac{\alpha\gamma}{\alpha\beta\gamma} + \frac{\alpha\beta}{\alpha\beta\gamma} = \frac{\beta\alpha\beta\gamma}{\alpha\beta\gamma}$   
 $\frac{\beta\gamma}{\alpha\beta\gamma} - \frac{\beta\gamma}{\alpha\beta\gamma} + \frac{\alpha\beta\gamma}{\alpha\beta\gamma} + \frac{\alpha\beta\gamma}{\alpha\beta\gamma}$   
 $\frac{\beta\gamma}{\alpha\beta\gamma} - \frac{\beta\gamma}{\alpha\beta\gamma} + \frac{\alpha\beta\gamma}{\alpha\beta\gamma} + \frac{\alpha\beta\gamma}{\alpha\beta\gamma}$   
Now we can use the fact that  $\sum \alpha\beta = \frac{\beta}{\alpha}$  and  $\sum \alpha\beta\gamma = -\frac{\alpha}{\alpha}$  to  $\beta \wedge nd \quad \frac{1}{\alpha} + \frac{1}{\beta} + \frac{1}{\beta}$   
 $\frac{1}{\alpha} + \frac{1}{\beta} + \frac{1}{\beta} = \frac{\beta\gamma}{-\alpha\beta\gamma}$   
Now we can use the fact that  $\sum \alpha\beta = \frac{\beta}{\alpha}$  and  $\sum \alpha\beta\gamma\gamma = -\frac{\alpha}{\alpha}$  to  $\beta \wedge nd \quad \frac{1}{\alpha} + \frac{1}{\beta} + \frac{1}{\beta}$   
 $\frac{1}{\alpha} + \frac{1}{\beta} + \frac{1}{\beta} = \frac{\beta\gamma}{-\alpha\beta\gamma}$   
(b) Find an equation with integer coefficients whose roots are  $2\alpha = 1, 2\beta = 1$  and  $2\gamma = 1$ . [4]  
If yie work on equation in terms of y with roots  
 $2 k - 1$ ,  $2\beta - 1$  and  $2\gamma - 1$ , we can write that  $y = 2 x - 1$   
 $(2 (\frac{1}{2}(y+1))^2 - \beta(\frac{1}{2}(y+1)) + 7 = 0)$   
expanding  $\frac{1}{\beta} \frac{\beta}{\beta}(y+1)^3 - \frac{\beta}{\beta}(y+1) + \frac{1}{\gamma} = 0$   
 $\frac{1}{\beta^2} + \frac{1}{3y^2} + \frac{1}{3y} + 1 - 10(y+1) + 2\beta = 0$   
 $\frac{1}{y^2} + \frac{1}{3y^2} - 7y + 19 = 0$ 

Α

G

Turn over

5 Fig. 5 shows the curve with polar equation 
$$r = a(3+2\cos\theta)$$
 for  $-\pi \le \theta \le \pi$ , where *a* is a constant.  
6 (a) Write down the polar coordinates of the points A and B.  
7 (a)  $A, \Phi = 0 \Rightarrow r = A(3+2\cos\theta) = 5a$   
7 (a)  $A, \Phi = 0 \Rightarrow r = A(3+2\cos\theta) = 5a$   
8 (b)  $Explain why the curve is symmetrical about the initial line.
7 (c)  $ak \ B, \Phi = \frac{p_1}{2} \Rightarrow r = 0 \cdot (3+2\cos\frac{\theta}{2}) = 0 \cdot (3+2(\alpha)) = 3a$ .  
8 (b) Explain why the curve is symmetrical about the initial line.  
7 (c)  $(-\Phi) = Cos \Theta$   
8 (c) In this question you must show detailed reasoning.  
7 (a)  $(3+2\cos\theta)^2 \ d\Phi$   
8 (c) In this question you must show detailed reasoning.  
8 (c) In this question you must show detailed reasoning.  
8 (c) In this question you must show detailed reasoning.  
9 (c) In this question you must show detailed reasoning.  
9 (c) In this question you must show detailed reasoning.  
9 (a)  $afea = \frac{1}{2} \int_{-\pi}^{\pi} (a(3+2\cos\theta)^2 \ d\Phi)$   
 $= \frac{1}{2} \int_{-\pi}^{\pi} a^2 (3+2\cos\theta)^2 \ d\Phi$   
 $= \frac{1}{2} \int_{-\pi}^{\pi} 2^2 (3+2\cos\theta)^2 \ d\Phi$   
 $= \frac{a^2}{2} \int_{-\pi}^{\pi} 2 + 12\cos\theta + 44\cos^2\theta) \ d\Phi$   
 $= \frac{a^2}{2} \int_{-\pi}^{\pi} 2 + 12\cos\theta + 44\cos^2\theta) \ d\Phi$   
 $= \frac{a^2}{2} \int_{-\pi}^{\pi} 2 + 12\cos\theta + 2\cos^2\theta \ d\Phi$   
 $= \frac{a^2}{2} \int_{-\pi}^{\pi} (11 + 12\cos\theta + 3\cos^2\theta) \ d\Phi$   
 $= \frac{a^2}{2} \left[ 110 + 12\sin\theta + 5\sin^2\theta - (11(h)) + 12\sin(-h) + 5\sin(-2h)) \right]$   
 $= \frac{a^2}{2} \left[ (11x + i2(\sin\theta + 5in^2\theta - (-11h) - 12(6) - (0)) \right]$   
 $= \frac{a^2}{2} \left[ (12x + i2(x^2 - (-11x) - 12(6) - (0)) \right]$$ 

G		
U	G.	
	0	7

6

7	
complex number z satisfies the equation $z^2 - 4iz^* + 11 = 0$ .	-
ten that $\operatorname{Re}(z) > 0$ , find z in the form $a + bi$ , where a and b are real numbers.	[4] -
First we define a general complex number Z. let Z = a + 6i. So Z* = a - bi	
Now we sub this into our equation $(a + bi)^2 - 4i(a - bi) = -11$	
$\frac{Q^{2} + 2abi + b(i) - 4ai + 4b(i)}{Q^{2} + 2abi + b^{2}(-1) - 4ai + 4b(-1) - 11}$	
$a^2 + 2abi - b^2 - 4ai - 4b = -11$	
now we need to seperate out the LHS in	to
the real and imaginary part. $a^2 - b^2 - 4b + (2ab - 4a)i = -11$	
The RHS has no imaginary port and a real port	- 0F - 11
2ab - 4a = 0	
a(26 - 4) = 0	
a = 0, $26 = 4$ , Imaginary	Part
discard as $b = 2$	
Re (Z) >0	
=700	
$\alpha^2 - (2)^2 - 4(2) = -11$	
$a^2 -  2  = - 1 $	2eal Part
$\alpha^2 = 1 = 7  \alpha = \pm 1$	
Re(Z)>0 => a>0. so a=1	
hence $a = 1$ $b = 2 = 7$ $z = 1 + 2i$	

© OCR 2020

Turn over

	$\mathbf{S}_{\mathbf{r}} = \mathbf{P} \left( 109 \dots 10^{n} \right)$
1	Section B (108 marks)
Pr	ove by mathematical induction that $\sum_{r=1}^{n} (r \times r!) = (n+1)! - 1$ for all positive integers <i>n</i> . [6]
	Step one: base case
-	when $n = 1$ , LHS = $\sum_{r=1}^{\infty} (r \times r!) =   \times  ! =   \times   =  $
	PHS = (1+1)! - 1 = 2! - 1 = 2 - 1 = 1
-	. as LHS = RHS, so true for n=1
	step two: assumption
	Assume true for $n = k$ , so $\sum_{r=1}^{\infty} (r \times r!) = (\kappa + 1)! - 1$
	Step three: inductive step
	Using the assumed result for n=4,
-	$\sum_{k=1}^{k=1} (\mathbf{L} \times \mathbf{L}_i) = \sum_{k=1}^{k=1} (\mathbf{L} \times \mathbf{L}_i) + ((\mathbf{N}+1) \times (\mathbf{N}+1)_i)$
	$= (N+1)! - (+ (N+1) \times (N+1)!)$ factorise out
-	$= (k+1)! + (k+1) - 1 \qquad (k+1)!$
-	$ (u+1)! = 1 \times 2 \times \times u \times (u+1) = (u+1)! (u+2) - 1 $
-	So $(N+1)!(N+2) = (N+2)! - 1$
-	$= [x_{2}x_{x}k_{x}(k+1)x_{(k+2)} = ((k+1) + 1)! - 1  \therefore \text{ true for } n = k+1$
-	I show clearly that the
-	result follows for n=k+1
-	Step four: conclusion
	If the vesult is true for n=k, it is true
	for n= k+1. Since it is true for n=1,
ľ	it is true for all positive integer
	values of n.

© OCR 2020

Α

$$\mathbf{G} = \left\{ \begin{array}{c} \mathbf{G} \\ \mathbf{G} \\$$

(a) Find the set of values of  $\lambda$  for which the linear transformation has no invariant lines through the origin. [5]

find the invariant to M We need to Use lines.  $= \frac{2 - 2 y}{2 - 2 y} = \frac{2 - 2 y}{2 - 2 y}$ (A)ແ′ -2 K Ч λ So the point (x, y) on y = mx is mapped to (x', y'). SO y' = mx' (lines are through origin so c=0)  $\lambda x + 3y = y'$ J= Mac 2 2 + 34 = Mac Jusing A no invariant lines USING  $if 2m^2 + 2m + \lambda = 0$  $\lambda x + 3(Mx) = m(x - 2y)$  $\lambda \infty + 3m\alpha = m\alpha^{2} - 2m(m\alpha)$ has no real voots  $\lambda$  >c + 3m>c = m>c - 2m<sup>2</sup> >c => det < 0 22-4×2×2 <0  $2m^2 \propto t 2m \propto t \lambda = 0$  $\mathcal{D}(\mathbb{Z}m^2+\mathbb{Z}m+\mathbb{Z})=0$ 82>4 =72>-2

Α

A

constant.

(b) Given that the transformation multiplies areas by 5 and reverses orientation, find the invariant lines.
[3]

We can consider the determinant of Μ. Since M Multiplies areas det M has a S 57 magnitude of S. It also has a negative sign as it reverses orientation. So det M = -S $3 - (-2)(\lambda) = -S \implies 2\lambda = -8 \implies \lambda = -4$ a)  $2m^{2} + 2m - 4 = 0$ Using part  $M^{2} + M - 2 = 0$ (M - I)(M + Z) = 0M=1 M=-2 invariant lines are y = 2c and y = -2cSO

© OCR 2020

### www.mymathscloud.com

www.ITVMathscloud.com

#### 10 In this question you must show detailed reasoning.

R

The region in the first quadrant bounded by curve  $y = \cosh \frac{1}{2}x^2$ , the y-axis, and the line y = 2 is rotated through 360° about the y-axis.

Find the exact volume of revolution generated, expressing your answer in a form involving a logarithm. [7]

Pecall that the volume generated by rotating a  
curve about the y-ax is 
$$2\pi$$
 radians is given by  
 $V = \pi \int_{a}^{b} x^{2} dy$   
Peasconging the equation for the curve  $y = \cosh(\frac{1}{2}x^{2})$   
 $\frac{1}{2}x^{2} = \arccos y$   
By sketching  $y = \cosh(\frac{1}{2}x^{2})$   
 $y$   
 $1 + is clear the bounds are
 $y = 1$  and  $y = 2$   
So volume =  $\pi \int_{a}^{2} 2 \operatorname{arcoshy} dy = 2\pi \int_{a}^{2} \operatorname{arcoshy} dy$   
we need to do this integral by parts  
let  $v = \operatorname{arcoshy} \frac{dv}{dv} = \frac{1}{(v^{2}-1)}$   
 $\frac{dy}{dy} = 1$   $v = y$   
So farcoshy  $dy = y \operatorname{arcoshy} - \int \frac{y}{(v^{2}-1)} dy$   
hence volume =  $2\pi [y \operatorname{arcoshy} - (v^{2}-1)]$   
 $= 2\pi (2 \operatorname{arcoshy} - (v^{2}-1) - (3 - 0 + 0))$   
 $= 2\pi (2\pi (2 + \sqrt{2} - 1) - \sqrt{3} - 0 + 0)$   
 $= 4\pi \ln (2 + \sqrt{3} - 2\pi \sqrt{3} + 0)$$ 

Turn over

www.mymathscloud.com

© OCR 2020

#### 11 In this question you must show detailed reasoning.

In Fig. 11, the points A, B, C, D, E and F represent the complex sixth roots of 64 on an Argand diagram. The midpoints of AB, BC, CD, DE, EF and FA are G, H, I, J, K and L respectively.

www.ITVMathscioud.com (a) Write down, in exponential  $(re^{i\theta})$  form, the complex numbers represented by the points A, B, А C, D, E and F. [2] \_ To find r,  $r^6 = 64 = 7r = 664 = 2$ Since Fig. 11 is a regular hexagon every interior angle is  $\frac{\pi}{3}$  rad.  $e = 2e^{\frac{4\pi}{3}i}$ Hence  $A = 2e^{\circ i} = 2$ B=Ze=  $F = 2e^{\frac{5\pi}{3}i}$  $C = 2e^{\frac{2\pi}{3}i}$  $D = 2e^{\pi i} = -2$ А (b) When these complex numbers are multiplied by the complex number w, the resulting complex numbers are represented by the points G, H, I, J, K and L. Find w in exponential form. [4] Multiplying a complex number by w=reio rotates the number by o and scales it's н  $\frac{\text{rotates the num}}{\text{remainded by V.}}$ From the diagrom  $\angle AOB = \frac{T}{3} \text{ rad}$   $\frac{\text{so } \angle AOG = \frac{T}{6} \text{ rad}}{T}$ ĸ  $ton = \pm \Rightarrow \infty = \frac{1}{\sqrt{5}} = \sqrt{3}$ Scaling factor' inew' modulus  $2 \times V = \sqrt{3} = > V = \frac{\sqrt{3}}{2}$ So  $W = \frac{\sqrt{3}}{2}e^{\frac{\pi}{6}i}$ Ę AΖ O hence old modulus (c) You are given that G, H, I, J, K and L represent roots of the equation  $z^6 = p$ . Α Find *p*. [2] above  $G = 2 = \sqrt{3}e^{\frac{\pi}{6}i} = \sqrt{3}(\cos \frac{\pi}{6} + i\sin \frac{\pi}{6})$   $D = (\sqrt{3}(\cos \frac{\pi}{6} + i\sin \frac{\pi}{6}))^6$  by de Moivre's if  $= 27(\cos \pi + i\sin \pi) + 2 = v(\cos \theta + i\sin \theta)$ From So Ø  $7_{i}^{n} = r^{n} (\cos n\theta + i \sin n\theta)$ 27(-1+i(0))--7.7-= 7 P = -27© OCR 2020

$$\begin{aligned} \mathbf{F} = \frac{1}{2} \quad \mathbf$$

Turn over

© OCR 2020

R

A

14 (continued)  

$$\frac{d^{2}x}{dt^{2}} - 3 \frac{dx}{dt} + 2x = 0$$
Auxiliary Equation:  $\lambda^{2} - 3\lambda + 2 = 0$   
 $(\lambda - 2)(\lambda - 1) = 0$   
 $\lambda = 2, \lambda = 1$   
Since we have 2 read roots, our general form is  
 $x = Ae^{t} + 8e^{2t}$   
now we need to also find  $y = f(t)$   
Using (a),  $y = \frac{1}{4} (\frac{dx}{dt} + 2x)$   
 $\frac{dx}{at} = Aet + 28e^{t}$   
So  $y = \frac{1}{4} (Aet + 26e^{t} + 2(Ae^{t} + 6e^{2t}))$   
 $y = \frac{1}{4}Ae^{t} + 8e^{2t}$   
So  $x = Ae^{t} + 8e^{2t}$   
So  $x = Ae^{t} + 8e^{2t}$   
So  $x = Ae^{t} + 8e^{2t}$   
Author the second of the secon

15 (a) Show that the three planes with equations

 $x + \lambda y + 3z = -12$ 2x + y + 5z = -11x - 2y + 2z = -9

where  $\lambda$  is a constant, meet at a unique point except for one value of  $\lambda$  which is to be determined. [3]



(b) In the case λ = -2, use matrices to find the point of intersection P of the planes, showing your method clearly.
 [3]

-12/s 2/s-1/s 1/s13/s Usina a calculator -1/s M<sup>-1</sup> = 1 0 - 1 So 3 X -12 1 -2 Ч S 2 -11 Ξ -2 2 Z 9 l -12/s  $^{2}/s$ 13/s X -12 XM-' 9 -1/s Vs -1/s - 1 \ 2 -= 9 3 Z ١ 0 2 hence P = -3)

© OCR 2020

44

Scioud.com

#### www.mymathscloud.com

А

$$18$$
The fine *l* has equation  $\frac{x-1}{2} = \frac{y-1}{-1} = \frac{z+2}{-2}$ .
(c) Find a vector equation of *l*

$$[2] = \begin{cases} each of the terms in the equation for L is equal to a scalar paralely say  $2$ .
$$\frac{x-1}{2} = 2 = 7 \times 2 = 1 + 2 \times 2$$

$$\frac{x-1}{2} = 2 = 7 \times 2 = 1 + 2 \times 2$$

$$\frac{x-1}{2} = 2 = 7 \times 2 = 1 + 2 \times 2$$

$$\frac{x-1}{2} = 2 = 7 \times 2 = 1 - 2 = 7 \times 2$$
(d) Find the shortest distance between the point P and *l*

$$[4]$$

$$Reccall that the shortest distance between a line
$$[x = a + 2a] \text{ and } a \text{ point } P \text{ is given by } a^{2} \times a^{2}$$

$$\frac{a^{2}}{a^{2}} = \frac{1}{2} + 2^{2} + 2^{2} = \sqrt{12}$$

$$\frac{a^{2}}{a^{2}} = \frac{1}{2} + 2^{2} + 2^{2} = \sqrt{12}$$

$$\frac{a^{2}}{a^{2}} = \frac{1}{2} + 2^{2} + 2^{2} = \sqrt{12}$$

$$\frac{a^{2}}{a^{2}} + 2^{2} + 2^{2} = \sqrt{12}$$

$$\frac{a^{2}}{a^{2}} + 2^{2} + 2^{2} = \sqrt{12}$$

$$\frac{a^{2}}{a^{2}} = \frac{1}{2} + 2^{2} + 2^{2} = \sqrt{12}$$

$$\frac{a^{2}}{a^{2}} = \frac{1}{2} + 2^{2} + 2^{2} = \sqrt{12}$$

$$\frac{a^{2}}{a^{2}} = \frac{1}{2} + 2^{2} + 2^{2} = \sqrt{12}$$

$$\frac{a^{2}}{a^{2}} = \sqrt{12} + 4^{2} + 2^{2} = \sqrt{12}$$

$$\frac{a^{2}}{a^{2}} = \sqrt{12} + 4^{2} + 2^{2} = \sqrt{12}$$

$$\frac{a^{2}}{a^{2}} = \sqrt{12} + 4^{2} + 2^{2} = \sqrt{12}$$

$$\frac{a^{2}}{a^{2}} = \sqrt{12} + 4^{2} + 2^{2} = \sqrt{12}$$

$$\frac{a^{2}}{a^{2}} = \sqrt{12} + 4^{2} + 2^{2} = \sqrt{12}$$$$$$

G

Α

-	$\underline{n} = 1 - 21 + 28$ As seen us the left, it
	L'is perpendicular to the
	plane normal to the plane.
	L is perpendicular to the normal if the scalar
	product of the direction vector of L and the normal
t	to the place 1 2
	is $\bigcirc$ . $-2 \cdot [-1] = 1(2) - 2(-1) + 2(-2) = \bigcirc$
	(2) (-2/ .: Lis parallel to plane
ii) 	Find the distance between <i>l</i> and the plane $x - 2y + 2z = -9$ . [2] Since the olarge and line are occulted the clist care
_	between them is always the same.
	So we can just find the distance between P
	(which lies on the plane) and L.
	In the formula booklet, the distance between
	$(2C_1, Y_1, Z_1)$ and $n_1 x + n_2 y + n_3 Z + d = 0$ is
	$\frac{ n_{1}x_{1} + n_{2}y_{1} + n_{3}z_{1} + \alpha }{\sqrt{n^{2} + n^{2} + n^{2}}}$
	VII, 112 113
	$d_{1} = \frac{1}{1} \left( \frac{1}{1} + \frac{1}{-2} + \frac{2}{-2} + \frac{2}{-2} \right) + \frac{2}{-2} \left( \frac{1}{-2} + \frac{2}{-2} \right) + \frac{2}{-2} \left( \frac{1}{-$
	$\frac{113tonce}{\sqrt{1^2 + 2^2 + 2^2}} = 3$
	hence distance between L and plane is 4 units

Α

Α

Turn over

An alternative model uses the differential equation

$$\frac{\mathrm{d}P}{\mathrm{d}t} - \frac{P}{t(1+t^2)} = \mathbf{Q}(t),$$

where Q(t) is a function of t.

(b) Find the integrating factor for this differential equation, showing that it can be written in the form  $\frac{\sqrt{1+t^2}}{t}$ . [8] So the differential equation,  $\frac{dP}{dt} - \frac{P}{t(1+t^2)} = Q(t)$ , is in standard linear Ist order DE form. The integrating factor, I(t) is given by  $I(t) = e^{\int -\frac{1}{t(1+t^2)}dt}$  $\frac{1}{t(1+t^2)}$  dt can be found using partial fractions.  $\frac{A}{(t^{2})} = \frac{A}{(t^{2})} + \frac{Bt + C}{(t^{2} + 1)} = \frac{A(t^{2} + 1) + t(Bt + c)}{t(t^{2} + 1)}$  $\frac{1}{t(1+b^2)}$ So  $At + At^{2} + A + Bt^{2} + Ct = 1$  A = 1, A + B = 0, A + C = 0 B = -1, C = 0hence  $\int \frac{1}{1(1+t^2)} dt = \int \frac{1}{t} - \frac{t}{t^2+1} dt$   $\int using \int \frac{f'(x)}{F(x)} dx = \ln |f'(x)|$   $= \ln |t| - \frac{1}{2} \ln |t|^2 + 1| \quad (no + c \ required,$   $= \ln |t| - \ln |\sqrt{1 + t^2}| \quad as \ multiplying \ the$   $= \ln \left|\frac{t}{\sqrt{1 + t^2}}\right| \qquad whole \ De \ by \ + c$   $= \ln \left|\frac{t}{\sqrt{1 + t^2}}\right| \qquad whole \ De \ by \ + c$   $= \ln \left|\frac{t}{\sqrt{1 + t^2}}\right|$  $\frac{-\ln\left|\frac{t}{\sqrt{1+t^2}}\right|}{\int_0 I(x_c) = e^{-\ln\left|\frac{1}{\sqrt{1+t^2}}\right|} = e^{-\frac{t}{1+t^2}} = \frac{t}{\sqrt{1+t^2}}$  as required.

Turn over

www.mymathscloud.com

21

R

#### www.mymathscloud.com

© OCR 2020

(c) Suppose that 
$$Q(t) = 0$$
.  
(i) Show that  $P = \frac{At}{\sqrt{1+t^2}}$ .  
The PE is now  $\frac{dP}{dt} - \frac{P}{t(t+t^2)} = 0$   
This is solved by first multiplying the  
 $\times I(t): \frac{\sqrt{1+t^2}}{t} \frac{dP}{dt} - \frac{\sqrt{t+t^2}}{t} \times \frac{P}{t(t+t^2)}$   
 $\frac{\sqrt{1+t^2}}{t} \frac{dP}{dt} - \frac{P}{t^2\sqrt{t+t^2}} = 0$ 

The LHS is implicit product rule. U = P  $U' = V = \frac{\sqrt{1+t^2}}{4t^2}$ 

$$\frac{d}{dt} \left( \frac{Pt}{\sqrt{1+t^2}} \right) = 0$$

$$\frac{Pt}{\sqrt{1+t^2}} = \int 0 dt \implies \frac{Pt}{\sqrt{1+t^2}} = K$$

as 
$$E \neq \infty$$
,  $P \neq k$ . hence  $k = A$ .  
So  $\frac{Pt}{\sqrt{1+t^2}} = A = P = \frac{At}{\sqrt{1+t^2}}$ 

G

Α

(ii) Find the time predicted by this model for the population density to reach half its longterm value. Give your answer correct to the nearest minute. [2]

the long term value of

So we need to solve 
$$\rho = \frac{1}{2}A$$
  

$$\frac{1}{2}A = \frac{At}{\sqrt{1+t^2}}$$

$$\sqrt{1+t^2} = 2t$$

$$1+t^2 = 4t^2$$

$$3t^2 = 1$$

$$t^2 = \frac{1}{3}$$

$$t = \pm \frac{1}{\sqrt{3}}$$
So  $0.577...$  hours =  $34.64...$  =  $35$  minutes

© OCR 2020

Half

OF

### www.mymathscloud.com

[4]

I(L).

쀿

 $t^2 \sqrt{1+t^2}$ 

54

rough

= 0

is  $\frac{1}{2}A$ .

P

(d) Now suppose that 
$$Q(t) = \frac{te^{-t}}{\sqrt{1+t^2}}$$
.  
Show that  $P = \frac{dt - te^{-t}}{\sqrt{1+t^2}}$ . [5]  
The DE is now  $\frac{dP}{dt} - \frac{P}{t(1+t^2)} = \frac{te^{-t}}{\sqrt{1+t^2}}$ .  
This is solved by first multiplying through by  $I(t)$ .  
 $X I(t): \frac{\sqrt{1+t^2}}{t} \frac{dP}{dt} - \frac{\sqrt{1+t^2}}{t} \times \frac{P}{t(1+t^2)} = \frac{\sqrt{1+t^2}}{\sqrt{1+t^2}}$ .  
The LHS is implicit product rule.  $u = P$   $u' = \frac{dP}{dt}$ .  
 $\frac{1}{t+t^2} = \int e^{-t}$ .  
 $\frac{Pt}{\sqrt{1+t^2}} = \int e^{-t} dt = \frac{Pt}{\sqrt{1+t^2}}$ .  
 $ast \neq \infty$ ,  $P \neq c$  as  $te^{-t} \neq 0$ . hence  $c = A$ .  
So  $P = \frac{At - te^{-t}}{\sqrt{1+t^2}}$  as required.

It is found that the long-term value of P is 10, and P reaches half this value after 37 minutes.

(e) Determine which of the models proposed in parts (c) and (d) is more consistent with these data. [2]

Here we need to investigate each model. We need to  
Find P when 
$$t = \frac{37}{60}$$
 for each.  
Model One:  $P = \frac{10\left(\frac{37}{60}\right)}{\sqrt{1 + \left(\frac{37}{60}\right)^2}} = 5.248...$   
Model Two:  $P = \frac{10\left(\frac{27}{60}\right) - \left(\frac{27}{60}\right)e^{-\left(\frac{27}{60}\right)}}{\sqrt{1 + \left(\frac{27}{60}\right)^2}} = 4.96...$   
Here the 2<sup>nd</sup> model is better as P is closer to  $\frac{10}{2} = 5$ .

© OCR 2020

R

Α



#### ADDITIONAL ANSWER SPACE

If additional space is required, you should use the following lined page(s). The question number(s) must be clearly shown in the margin(s).



#### **Copyright Information**

OCR is committed to seeking permission to reproduce all third-party content that it uses in its assessment materials. OCR has attempted to identify and contact all copyright holders whose work is used in this paper. To avoid the issue of disclosure of answer-related information to candidates, all copyright acknowledgements are reproduced in the OCR Copyright Acknowledgements Booklet. This is produced for each series of examinations and is freely available to download from our public website (www.ocr.org.uk) after the live examination series.

If OCR has unwittingly failed to correctly acknowledge or clear any third-party content in this assessment material, OCR will be happy to correct its mistake at the earliest possible opportunity.

For queries or further information please contact The OCR Copyright Team, The Triangle Building, Shaftesbury Road, Cambridge CB2 8EA.

OCR is part of the Cambridge Assessment Group; Cambridge Assessment is the brand name of University of Cambridge Local Examinations Syndicate (UCLES), which is itself a department of the University of Cambridge.

© OCR 2020